A7 AABC O A sin A 9] 22 dnpelz?

1

rlo

o J9 2

A
5
C‘x\,%,/’B
41 41 41
5 V4l 6 V41



2. < % cosA ¢} gho] T2 AZtH]=?

@D sinA ® sinB 3 cosB @ tanA ® tanB



3. o2 189 AABC oA £C=90° ¥ W, sinA + cosA 9] S F5t
o2},

w A



the g3t e K ZHkzbe ABC o tiste] sinC, cos C, tan C 2
e Fatoiat

b ©sinC =
EcosC =

th tanC =



o 2"A . = 90° ¢ o,
sin A 4 cos A 9] ZF&?

17 17
®E @—1—3 ® —

7 18
®-5 O




o]a, BC 7} 12

<t

ABC 9|4 tan A =

2hig7te

]

z
&

olJ
~u

o

olp

oy

® 13 12 @ 11 3 10

@D 15



e

X ol

° R

R <

= <

w B

N

<A o0

NN

NI 7C

ol B,

D

,_HH o]

‘amoo?a
ﬁ/.

AT

olp Am o

T8 T

@ 24 3 36 @ 48 B 50

D 12



8.

The} 2ol /B = 90°9 AZHAT

7}

ABCoA 3cos A —sin A 9] 22

@
®

1-+3

2
3- 3
2
5- V3
9

@
@

2- 3

2
4-43
2

K




-8 = 1138 9] AABC oA BC 9
£ Yettl= 220

@ c¢sinB 4+ bsinC @ csinB+bcosC
® ccosB+bcosC @ ccosB+ bsinC

B ctanB +btanC



©

7
@ Tcos43° ® 7sin43°
cos43° 7

sin 43 ° sin47°




